BEEDE LW BIEAEDE LT

SEHENDFED BiZRERY 154>

NO.7 2B 9 A

1| RODYEDBEZEERALT, EAL2(H=ONNRTESLSL,

@ 3 = 18 @ 7152 + 38

2 | ROFEELLBEL,

@ _1_ . @_1. 2
6+5.7 2(5.6x3)

3| 1HD100FTOEHKDLENT 7 OEBIIEEHEINEZLGSL,

= EZ

4| Hd3XRZE. 1BFY 38 R-IYFAT 15 HTHHAKAFUIZ. COXMNR-I %

RHIBELY,
+
A

Ij

5| FEMD 2 & 5 HEIFTELMNTCUVEERZEEST 3000 AXZILLFELE,

COBEmDEMIEL O TLIED,
=

EZ

6| mEN 56 ci. FHSH 14 cmO=HEOEDIFIfFcmTIH,

"

Ij

A

7| N\NAROADKESOMIESEETI N,

=

I3
i

R CiE A 5E FY L 1



BEEDE LW BIEAEDE LT

ZZ
1l @ 3 =+ 18 ) 752 <+ 38
=  1.66 — 17 = 197 — 20
2| ® @ 1 2
—4+ 5 = 7 — - (—=* 6 x 3
6 2 ( 5 )
1 5 7 30 1 2 1
= + = + =— = X X 3 )
6 7 42 42 2 5 6
37 O 1 5
Y 2 5 10 10
3
"~ 10
3 100 = 7 =14 HFEn 2 %=z 14 @&
4 | 38 x 15 = 570 ZZ 570 R—-3Y
5| % 3000 - ( 1 - 025) = 4000 %3z 4000 M
6 | Eil%E cm &£TBE
X 14 =~ 2 = 56
= 5 —~ 7 = 8 %3z 8 cm
7 180 ° X ( 8 - 2 ) = 1080 ° 7%z 1080 °

HECHELLFEE UL 2



